DU MA Political Science

Topic:- 21PSMA

1)

Which of the following statements is not true of Rammohun
Roy’'s:approach to socia-religisus reform?

1. Promation of modern Western education

2. Support for polytheism

3. Sought state action against irrational social practices

4. Belief in the existence of the soul
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[Question ID = 1151][Question Description = 101_2058_POLI_OCT22_S1_Q01]
1. 1 [Option ID = 4601]
2. 2 [Option ID = 4602]
3. 3 [Option ID = 4603]
4. 4 [Option ID = 4604]

Correct Answer :-
e 2 [Option ID = 4602]

Who described the Satyegraha against the Rowlatt Act as a
"Himalayan Miscalculation™?

1. Vallabhbhai Patel

2. Jawaharlal Nehru

3. Mohandas Karamchand Gandhi

4. Purushottam Amin
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[Question ID = 1152][Question Description = 102_2058_POLI_OCT22_S1_Q02]
1. 1 [Option ID = 4605]
2. 2 [Option ID = 4606]
3. 3 [Option ID = 4607]
4. 4 [Option ID = 4608]

Correct Answer :-
e 3 [Option ID = 4607]



3) Whe among the following was the founder of the Islamic

movement, Jamaoat e-Istami?
1. Abul Kalam Azad
2. Maulana Mahmoodal Hasan
3. Abul Ala Maudoodi
4. Syed Ahmad Khan
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[Question ID = 1153][Question Description = 103_2058_POLI_OCT22_51_Q03]
1. 1 [Option ID = 4609]
2. 2 [Option ID = 4610]
3. 3 [Option ID = 4611]
4. 4 [Option ID = 4612]

Correct Answer :-
e 3 [Option ID = 4611]

Who of the following was the auther of ‘Swadeshi Soaiaj?
1. Rabindranath Tagore
2. Mohandas Karamchand Gandhi
3. Bal Gangadhar Tilak
4, Bankim Chandra Chatterjee
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[Question ID = 1154][Question Description = 104_2058_POLI_OCT22_51_Q04]
1. 1 [Option ID = 4613]
2. 2 [Option ID = 4614]
3. 3 [Option ID = 4615]

Who ameng the follewing characterized ‘parliaments’ as jokes’

and ‘party politics’ as degenerate ‘fanaticism and sectarianism'?
1. M.N. Roy

. M.K. Gandhi

. Sri Aurcbindo

. Swami Vivekananda
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[Question ID = 1155][Question Description = 105_2058_POLI_OCT22_S1_QO05]
1. 1 [Option ID = 4617]
2. 2 [Option ID = 4618]
3. 3 [Option ID = 4619]
4. 4 [Option ID = 4620]

Correct Answer :-
e 4 [Option ID = 4620]

Whio is the formal Chief of State in Canada?
1. Queen Elizabeth |
2. Queen Elizabeth ||
3. The Prime Minister
4, None
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[Question ID = 1156][Question Description = 106_2058_POLI_OCT22_51_Q06]
1. 1 [Option ID = 4621]
2. 2 [Option ID = 4622]
3. 3 [Option ID = 4623]
4. 4 [Option ID = 4624]

Correct Answer :-
e 2 [Option ID = 4622]

Who describes the Indian federation as 'a cooperative
federation™?

1. Alexandrowicz

2.Sir lvorjennings

3. K.C Wheare

4, Granville Austin
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[Question ID = 1157][Question Description = 107_2058_POLI_OCT22_51_Q07]
1. 1 [Option ID = 4625]



2. 2 [Option ID = 4626]
3. 3 [Option ID = 4627]
4. 4 [Option ID = 4628]

Correct Answer :-
e 4 [Option ID = 4628]

Which of the following Supreme Court judgments announces
federalism as part of the basic structure of the Constitution?
1. Golaknath Case
2.5.R. Bommai Case
3. Shankari Prasad Case
4. Kesavananda Case
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[Question ID = 1158][Question Description = 108_2058_POLI_OCT22_S1_Q08]
1. 1 [Option ID = 4629]
2. 2 [Option ID = 4630]
3. 3 [Option ID = 4631]
4. 4 [Option ID = 4632]

Correct Answer :-
e 2 [Option ID = 4630]

Who of the following is the first advocate 4o be directly the
Chief Justice of India?

1. Chief Justice D.Y. Chandrachud Singh

2. Chief Justice Deepak Mishra

3. Chief Justice U.U. Lalit

4. Chief JusticeSiM. Sikri
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[Question ID = 1159][Question Description = 109_2058_POLI_OCT22_51_Q09]
1. 1 [Option ID = 4633]
2. 2 [Option ID = 4634]
3. 3 [Option ID = 4635]
4. 4 [Option ID = 4636]

Correct Answer :-
e 4 [Option ID = 4636]



10) The Right to Free and Compulsory Education can be found in

which Article of the Constitution?
1. Article 14
2. Article 21
3. Article 21A
4. Article 19
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[Question ID = 1160][Question Description = 110_2058_POLI_OCT22_51_Q10]
1. 1 [Option ID = 4637]
2. 2 [Option ID = 4638]
3. 3 [Option ID = 4639]
4. 4 [Option ID = 4640]

Correct Answer :-
e 3 [Option ID = 4639]
The Constitution of India recognises Minorities @n which of the
following grounds?
1. Gender
2. Religion
3. Caste
4. Race
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[Question ID = 1161][Question Description = 111_2058_POLI_OCT22_51_Q11]
1. 1 [Option ID = 4641]
2. 2 [Option ID = 4642]
3. 3 [Option ID = 4643]
4. 4 [Option ID = 4644]

Correct Answer :-
e 2 [Option ID = 4642]



12 = o T y ;
) In the Indian Censtitution, the power to issue orders erwrits to

enforce legal rights is with
1. High Court
2. Supreme Court
3. Lok Adalat
4. Sessions Court
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[Question ID = 1162][Question Description = 112_2058_POLI_OCT22_51_Q12]
1. 1 [Option ID = 4645]
2. 2 [Option ID = 4646]
3. 3 [Option ID = 4647]
4. 4 [Option ID = 4648]

Correct Answer :-
e 1 [Option ID = 4645]

Which part of the Indian Constitution talks about ﬂ'tE Uniform
Civil Code?

1. Part |

2. Part I

3. Part |1l

4, Part IV
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[Question ID = 1163][Question Description = 113_2058_POLI_OCT22_51_Q13]
1. 1 [Option ID = 4649]
2. 2 [Option ID = 4650]
3. 3 [Option ID = 4651]
4. 4 [Option ID = 4652]

Correct Answer :-
e 4 [Option ID = 4652]

‘Dravidar Kazhagam' is a social movement founded by
1. C.N. Annadurai
2, Periyar E V, Ramasamy

3. M. Karunanidhi
4. K. Veeramani
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[Question ID = 1164][Question Description = 114_2058_POLI_OCT22_S1_Q14]
1. 1 [Option ID = 4653]
2. 2 [Option ID = 4654]
3. 3 [Option ID = 4655]
4. 4 [Option ID = 4656]

Correct Answer :-
e 2 [Option ID = 4654]

Vikom Satyagraha was launched in Kerala in the year
1.1524
2.1524
3.1544
4.15945
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[Question ID = 1165][Question Description = 115_2058_POLI_OCT22_S1_Q15]
1. 1 [Option ID = 4657]
2. 2 [Option ID = 4658]
3. 3 [Option ID = 4659]
4. 4 [Option ID = 4660]

Correct Answer :-
e 1 [Option ID = 4657]

Whe authored "Paverty and Un-British Rule in India’?
1. Surendranath Banerjee
2, Dadabai Naoroji
3. Ramesh Chandra Dutt
4.P.C. Ray
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[Question ID = 1166][Question Description = 116_2058_POLI_OCT22_S1_Q16]
1. 1 [Option ID = 4661]
2. 2 [Option ID = 4662]
3. 3 [Option ID = 4663]



4. 4 [Option ID = 4664]

Correct Answer :-
e 2 [Option ID = 4662]
Who authored The Culture and Civilisation ef Ancient India in
Historical Outline'?
1. D.D. Kesambhi
2. B.D, Chattopadhyaya
3. K. Savathamby
4.S. K. Chatterji
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[Question ID = 1167][Question Description = 117_2058_POLI_OCT22_S1_Q17]
1. 1 [Option ID = 4665]
2. 2 [Option ID = 4666]
3. 3 [Option ID = 4667]
4. 4 [Option ID = 4668]

Correct Answer :-
e 1 [Option ID = 4665]

Who constructed the concept of'Crtati-\'re_Sc:-cie__ty'?
1. Neera Chandhoke
2. M. Mohanty
5. Gopal Guru
4. Partha Chatterjee
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[Question ID = 1168][Question Description = 118_2058_POLI_OCT22_51_Q18]
1. 1. [Option ID = 4669]
2. 2 [Option ID = 4670]
3. 3 [Option ID = 4671]
4. 4 [Option ID = 4672]

Correct Answer :-
e 2 [Option ID = 4670]



19) Which article states; 'no person gan be excluded from the

electoral roll on grounds only of religion, race, caste, sex or any
of them?

1. Article 325

2. Article 324(1)

3. Article 360

4. Article 322
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[Question ID = 1169][Question Description = 119_2058_POLI_OCT22_51_Q19]
1. 1 [Option ID = 4673]
2. 2 [Option ID = 4674]
3. 3 [Option ID = 4675]
4. 4 [Option ID = 4676]

Correct Answer :-
e 2 [Option ID = 4674]

Which of the following is not a specializedagency of the United
Nations?

1. World Intellectual Property Organization

2. Universal Postal Union

3. Amnesty International

4. International Maritime Organization
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[Question ID = 1170][Question Description = 120_2058_POLI_0OCT22_51_Q20]
1. 1 [Option ID = 4677]
2. 2 [Option ID = 4678]
3. 3 [Option ID = 4679]
4. 4 [Option ID = 4680]

Correct Answer :-
e 3 [Option ID = 4679]



21) Which of the following is not a peacekeeping operation of the

United Nations?
1. United Nations Interim Force in Lebanen
2. United Nations Mission in Siberia
3. United Nations Mission in Liberia
4, United Nations Mission in Sudari

fFrafeRad 7 | o Sged TP &1 Wit WA (dgasi) HiHaE
a8l 87

1. g  HEE P @ SiARE F

2. Frgaiival A HE Y HEE

3. TTEaIET H HYE Y R

4. g™ | 9gF 1Y HEA

[Question ID = 1171][Question Description = 121_2058_POLI_OCT22_51_Q21]
1. 1 [Option ID = 4681]
2. 2 [Option ID = 4682]
3. 3 [Option ID = 4683]
4. 4 [Option ID = 4684]

Correct Answer :-
e 2 [Option ID = 4682]

Which of these is not an argument from the constructivist
approach in International Relations?
1. People act in the world according to fhei'r perceptions
2, Perceptions of people arise from their icfe‘nﬁ_ti_es_
3. [dentities of people do notchange
4. Identities of people underge change
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[Question ID = 1172][Question Description = 122_2058_POLI_0OCT22_51_Q22]
1. 1 [Option ID = 4685]
2. 2 [Option ID = 4686]
3. 3 [Option ID = 4687]
4. 4 [Option ID = 4688]

Correct Answer :-
e 3 [Option ID = 4687]



23) Which of these is not an argument from the neoliberal approach

in Internaticnal Relations?
1. States are the principal actors in global politics
2. Anarchy does not necessarily lead to conflict
3. Actors are concerned about their relative gains
4, Actors are concerned about their absolute gains
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[Question ID = 1173][Question Description = 123_2058_POLI_0OCT22_51_Q23]
1. 1 [Option ID = 4689]
2. 2 [Option ID = 4690]
3. 3 [Option ID = 4691]
4. 4 [Option ID = 4692]

Correct Answer :-
e 3 [Option ID = 4691]

Identify the comrect sequence of events, beginning from the
earliest:
i. Mussolini seizes power in ltaly

ii, World War [l begins-
iii. Treaty of Versailles

iv. Munich Agreement

1.0 i, i, i
2. i, 0, v, i
3. i, i, , v
4. v, i, 0, i
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2. i, i, iv, i
3. i, i, i, iv

4, v, i, i, i

[Question ID = 1174][Question Description = 124_2058_POLI_OCT22_S1_Q24]
1. 1 [Option ID = 4693]



2. 2 [Option ID = 4694]
3. 3 [Option ID = 4695]
4. 4 [Option ID = 4696]

Correct Answer :-
e 2 [Option ID = 4694]

Identify the comect sequence of events, beginning from the
earliest:

i. Trumian Doctrine announced

i, Creation of the United Nations
iii. Fall of the Berlin Wall

iv. Cuban Missile Crisis

1.0, 0, dv, i
2. i, i, iv, iii
3.0, di, iii, iv
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[Question ID = 1175][Question Description = 125_2058_POLI_0OCT22_51_Q25]
1 [Option ID = 4697]
2 [Option ID = 4698]
3 [Option ID = 4699]
4 [Option ID = 4700]
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Correct Answer :-
e 2 [Option ID = 4698]



26) Which of the following is not true regarding second ballot

electoral system?

A, There are single member constituencies and preferential
voting.

B. A candidate cannet wir without majerity suppart.

C. If no candidate gains a first ballot majority, second round of
ballet is held between the leading three candidates.

D. Less possibility of strong and stable government,

E, Strong and stable government is passible.
1.0nly B
2.Both Band E
3.0nly A, Cand D
4, None of the above
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[Question ID = 1176][Question Description = 126_2058_POLI_OCT22_51_Q26]
1. 1 [Option ID = 4701]
2. 2 [Option ID = 4702]
3. 3 [Option ID = 4703]
4. 4 [Option ID = 4704]

Correct Answer :-
e 2 [Option ID = 4702]

Wherrwas the Model Code ef Conduct framed by the Election
Commission of India?

1. 15868

2.1865

3.1951

4.1955



YR THare- SR A H16Y SR diedl ®f $4 qdR [ear?
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[Question ID = 1177][Question Description = 127_2058_POLI_OCT22_S1_Q27]
1. 1 [Option ID = 4705]
2. 2 [Option ID = 4706]
3. 3 [Option ID = 4707]
4. 4 [Option ID = 4708]

Correct Answer :-
e 1 [Option ID = 4705]

Which of the following is true regarding the First Past the Post
System?

A, This system wastes many votes.

B, The country is divided into multi-member constituencies,
C. It is based on the plurality rule,

D. It is a type of proportional representation system

E. Simple to understand and thus establishes a¢lear link
between representatives and constituents.

1.Only B

2. Beth Band D

3.0nly A, Cand E

4. None of the above
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[Question ID = 1178][Question Description = 128_2058_POLI_OCT22_51_Q28]
1. 1 [Option ID = 4709]
2. 2 [Option ID = 4710]
3. 3 [Option ID = 4711]
4. 4 [Option ID = 4712]



Correct Answer :-
e 3 [Option ID = 4711]

Which of the following is true regarding Two-Party System?
A, This system is duopalistic,
B. Number of minor and major parties may exist.

C, UK, USA, Canads, Australia and New Zealand are the states
with-two-party system.

D. Itis hard for one party to get a majority.
T.A&C
2. Only B
3. Only C
4. BothB&D
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[Question ID = 1179][Question Description = 129_2058_POLI_0OCT22_51_Q29]
1. 1 [Option ID = 4713]
2. 2 [Option ID = 4714]
3. 3 [Option ID = 4715]
4. 4 [Option ID = 4716]

Correct Answer :-
e 1 [Option ID = 4713]



30 ; . .
) Which of the following are incorrect?

A, Parliamentary system is a Westminster form of government

and is prevalent in Britain, Japan Canada and India.

B. Presidential System is based on double executive.
C. Presidential System is the Governance of the President,

D. In the parliamentary form of Government, the members of
the Council of Ministers are collectively responsible to the Head
of State

. Only A

.Only B

.Both Band D

.Only D
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[Question ID = 1180][Question Description = 130_2058_POLI_0OCT22_51_Q30]
1. 1 [Option ID = 4717]
2. 2 [Option ID = 4718]
3. 3 [Option ID = 4719]
4. 4 [Option ID = 4720]

Correct Answer :-
e 3 [Option ID = 4719]



3N Which of the following statements are not true regarding

Institutional Approach to Comparative Politics?
A, Study of Institutions is the core of Political Science

B. Institutional approach assumes the study of people maiters
more than organizations

C. Institutions possess history, culture and memory embedying
traditions and founding values

1.Only A

2. Only B

3. Only C

4. Both Aand C
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[Question ID = 1181][Question Description = 131_2058_POLI_OCT22_51_Q31]
1. 1 [Option ID = 4721]
2. 2 [Option ID = 4722]
3. 3 [Option ID = 4723]
4. 4 [Option ID = 4724]

Correct Answer :-
e 2 [Option ID = 4722]



32)  \atch List | with List I

List | List 11
Authors
Books
A. Barringten I —
. Disquisition on Government
Moaore Jr,
ii. Social Origins of Dictatorship and
B. John C. ) .
Democracy: Lord and Peasants in the
Calhoun

Making of the Modern World

iii. Democracias in Plural societyr &
. Robert Puitnam )
comparative Approach

. iv. Bowling Alone: The Collapse and Revival
D. Arend Lijphart : :
of American Community

Choose the correct answer from the options given below:
1. A-{i); B-(iii); C-(ii}; D-(iv)
2. A-(ii); B-(i); E-{iv); D-{iii)
3. A-(ii); B-(i); () D-{iv)
4. A-(i); B-{ii); C-(iv); D-{iii)

! -1 B ! -1 AT B ;
gl -| (D) ! -l ()
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=
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Him HERE wEEd
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8 A—ﬁ}; B—(ﬁi}: CHii): D-{iv)

2.4 (ii): B-(i); C-(iv); D~iii)
3. A=(iity; B-(il); C-(i); D(iv)
4 A-(i); B-{ii): C-(iv); D~{iii)

[Question ID = 1182][Question Description = 132_2058_POLI_OCT22_51_Q32]
1. 1 [Option ID = 4725]
2. 2 [Option ID = 4726]
3. 3 [Option ID = 4727]
4. 4 [Option ID = 4728]



Correct Answer :-
e 2 [Option ID = 4726]

‘Enterprise Capitalism’ is inspired by whose ideas?
1. David Smith and Adam Ricardo
2. Margaret Thatcher
3. Adam Smith and David Ricardo
4. LM, Keynes
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4, 9.0, B9

[Question ID = 1183][Question Description = 133_2058_POLI_OCT22_S1_Q33]
1. 1 [Option ID = 4729]
2. 2 [Option ID = 4730]
3. 3 [Option ID = 4731]
4. 4 [Option ID = 4732]

Correct Answer :-
e 3 [Option ID = 4731]

Which of the following statement is incorrect with respectto the
politics of Brazil?

A. Brazil is a unitary presidential constitutional republic.

B. President of Brazil is both head of state:and head of
government.

C. Chamber of Deputies is the Upper House of Brazil's-
Parliament

D. Current constitu_ﬁ,cg‘t of Brazil game into force in 1988,
1. Only A
2.Band D
3. Only.C
4, Adnd B
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[Question ID = 1184][Question Description = 134_2058_POLI_OCT22_S1_Q34]
1. 1 [Option ID = 4733]
2. 2 [Option ID = 4734]
3. 3 [Option ID = 4735]
4. 4 [Option ID = 4736]

Correct Answer :-
e 3 [Option ID = 4735]

Match List | with List 11
List | List I

Country |Party

A. Brazil |i, Conservative Party

B. China |ii. All Progressives Congress

C. Nigerialiii. Socialist Liberal Party

D. Britain |iv. Chinese Communist Party

Choose the correct answer from ihe options given below:
1. A-(iii); B-(iv); C-(ii); D-(i)
2. A-{i): B={iv): C=(ii}: D-ii)
3. A (iii); B-(iv); C-(ii); D=(i)

4. A (ii); B-(iv); C-(ii); D-{)
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1. A-(ifi): B-(iv): C=(ii); D-(i)
2. A-(i); B-(iv); C-{ii); D~{iii)
3. A-(iii); B-(iv): C-{ii); D-(i)
4. A (i) B-{iv): C-(iii); D=(i)

[Question ID = 1185][Question Description = 135_2058_POLI_OCT22_51_Q35]
1. 1 [Option ID = 4737]
2. 2 [Option ID = 4738]
3. 3 [Option ID = 4739]
4. 4 [Option ID = 4740]

Correct Answer :-
e 1 [Option ID = 4737]

38) Match List | with List 11
List | List 1l
Books Authors
i. Politics among Mations avAlexander Wendt
it. Man, the State and War b. Hans Morgenthau
iii. Tragedy of Great Pewer Politics c. Kenneth Waltz
iv. Sccial Theory'of International Politics|d. John Mearsheimer

Choose the correct answer from the options given below:
1. i-a; li-bpiil-civ-d
2. i-byii-c fii-d; iv-a
3.i-by; ii-g fii-a;iv-d
4. i-by; fi-c; fif-d; iv-a
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1. i-a; ii-b; lii-c; iv-d
2. i-b: ii-c iii-d; iv-a
5. i-bi li-g iii-a; iv-d
4, i-b: ii-c iii-d; iv-a

[Question ID = 1186][Question Description = 136_2058_POLI_OCT22_51_Q36]
1. 1 [Option ID = 4741]
2. 2 [Option ID = 4742]
3. 3 [Option ID = 4743]
4. 4 [Option ID = 4744]

Correct Answer :-
e 4 [Option ID = 4744]

Which of the fellawing is not a great debate in Intefmiational
Relations?

1. Realism vs ldealism

2. Traditionalism vs-Science

3. Modernism vs Postmedernism

4. Rationalism vs Reflectivism

Pafarad 7 | o 3 feRig 94y @1 0 98 99T 38 &7
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[Question ID = 1187][Question Description = 137_2058_POLI_OCT22_S1_Q37]
1. 1 [Option ID = 4745]
2. 2 [Option ID = 4746]
3. 3 [Option ID = 4747]
4. 4 [Option ID = 4748]

Correct Answer :-
e 3 [Option ID = 4747]



38) Both Neorealists and Neoliberals agree that

1. States pursue abselute gains

2. States pursue relative gainis

3. States are rational actors

4. States are the only actors in international politics

TFomunarEl S TegaNae] 5l 9e5d & fa
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[Question ID = 1188][Question Description = 138_2058_POLI_OCT22_S1_Q38]
1. 1 [Option ID = 4749]
2. 2 [Option ID = 4750]
3. 3 [Option ID = 4751]
4. 4 [Option ID = 4752]

Correct Answer :-
e 3 [Option ID = 4751]

Which of the following ideas was presented by Samuel
Huntington?

1. End of History

2, Clash of Civilizations

3. The World is Hat

4. Tragedy of Great Power Paolitics

Prafefen Rl & & o o AR S g e o g

[Question ID = 1189][Question Description = 139_2058_POLI_OCT22_51_Q39]
1. 1 [Option ID = 4753]
2. 2 [Option ID = 4754]
3. 3 [Option ID = 4755]
4. 4 [Option ID = 4756]

Correct Answer :-
e 2 [Option ID = 4754]



40)  Match List 1 with List 1l

List | List Il

(Books) (Authors)

i. The Twenty Years' Crisis a. Kenneth Waltz
it. Power and Interdependence b. EH. Carr

iii. The Anarchical Society c. Joseph Nye

iv. Theory of International Relations|d. Hedley Bull

Choose the correct answer from the options given below:
1. i-a; ii-b; iil-g iv-d
2. i-b; fi-g iii-d; iv-a
3. i-b; fi-q iii-a; iv-d
4. i-b; ii-d; iii-c iv-a

Tl - @ g1 -1 gl DI ;
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1. i-a; li-b; i~ iv-d
2. i-b: ii-c iii-d; iv-a
3. i-b: ii-c ii-a; iv-d
4 i-b; ii-d; iii-c iv-a

[Question ID = 1190][Question Description = 140_2058_POLI_OCT22_51_Q40]
1. 1 [Option ID = 4757]
2. 2 [Option ID = 4758]
3. 3 [Option ID = 4759]
4. 4 [Option ID.= 4760]

Correct Answer :-
e 2 [Option ID = 4758]

Whe propounded the World-System Theory?
1. Andre Gunder Frank
2. Samir Amin
3. Immanuel Wallerstein
4, Paul Baran
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[Question ID = 1191][Question Description = 141_2058_POLI_OCT22_S1_Q41]
1. 1 [Option ID = 4761]
2. 2 [Option ID = 4762]
3. 3 [Option ID = 4763]
4. 4 [Option ID = 4764]

Correct Answer :-
e 3 [Option ID = 4763]

Which of the following ideas was presented by Francis
Fukuyama?

1. End of History

2. Clash-of Civilizations

3. The World is Fat

4. Tragedy of Great Power Politics
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[Question ID = 1192][Question Description = 142_2058_POLI_OCT22_51_Q42]
1. 1 [Option ID = 4765]
2. 2 [Option ID = 4766]
3. 3 [Option ID = 4767]
4. 4 [Option ID = 4768]

Correct Answer :-
e 1 [Option ID = 4765]

World Trade Organization was established as a result of
1. Doha Development Round
2. Uruguay Round of Negotiations
3. Geneva Round of Negotiations
4, Seattle Round of Negotiations'

3% sToR 9ie #1 | 59% UNUEEET 5
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[Question ID = 1193][Question Description = 143_2058_POLI_OCT22_51_Q43]
1. 1 [Option ID = 4769]
2. 2 [Option ID = 4770]



3. 3 [Option ID = 4771]
4. 4 [Option ID = 4772]

Correct Answer :-
e 2 [Option ID = 4770]

44) Glabalization can be defined as:
1. A stretching of social, political, and econemic activities
across political frontiers
2. & growing magnitude of interconnectedness in almost
every sphere of social "existence
3. An accelerating pace of glebal interactions and processes
associated with a deepening enmeshment of the local and
the global.
4. All of the above
G0 ] 3 UK YR foegT o Thell ©
1. TS diHred & W wrETee, i, SR e
TfafefeEl @1 frer
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4, IURIE G4

[Question ID = 1194][Question Description = 144_2058_POLI_OCT22_51_Q44]
1. 1 [Option ID = 4773]
2. 2 [Option ID = 4774]
3. 3 [Option ID = 4775]
4. 4 [Option ID = 4776]

Correct Answer :-
e 4 [Option ID = 4776]

Organized hypocrisy is

1. A term coined by peliticalscientist Robert Keohane to refer
tos0 \.rer_e-_i_g_nty

2. A term coined by pelitical scientist Stephen Krasner to refer
tosovereignty

3, A term used for .lega] fiction masking power relations
between states

4. Aterm used to refer to the idealistic conceptions of
interpational society

1. Ty & fou weita a9iaE Aad deiles @ om0 s
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[Question ID = 1195][Question Description = 145_2058_POLI_OCT22_S1_Q45]



1 [Option ID = 4777]
2 [Option ID = 4778]
3 [Option ID = 4779]
4 [Option ID = 4780]

A wpN =

Correct Answer :-
e 2 [Option ID = 4778]

The idea of ‘soft power’ means
1. Weakening hegemonic influence
2. Collaboration among several emerging powers
3. The ability to achieve goals through attraction rather than
coercion
4, The influence of financial institutions and markets (as
opposed to state actors or other political institutions)

TguE & R e
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[Question ID = 1196][Question Description = 146_2058_POLI_OCT22_S1_Q46]
1. 1 [Option ID = 4781]
2. 2 [Option ID = 4782]
3. 3 [Option ID = 4783]
4. 4 [Option ID = 4784]

Correct Answer :-
e 3 [Option ID = 4783]

Which of the following statements is trite with respect to
"Embedded Liberalism’]

1. Providing foundations of a liberal international economic
order based on the pursuit.of free trade, but allewing an
appropriaté role for state intervention in the market in
supportef national security and global stability

2. A 1990s.assumption that liberal values as defined and
promotad by the United States were ‘winning’, leading to a
moTe tﬂ?ﬂq_{;ﬂl world

3. A neo-realist ironical denouncement of soft values as a
n*fajc:rfa__etor in international affairs

4 A theoretical explanation how financial and trade
globalization will spill overto other areas and gradually
deepen integration
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[Question ID = 1197][Question Description = 147_2058_POLI_OCT22_51_Q47]
1. 1 [Option ID = 4785]
2. 2 [Option ID = 4786]
3. 3 [Option ID = 4787]
4. 4 [Option ID = 4788]

Correct Answer :-
e 1 [Option ID = 4785]

Which scholar posed the guestion “Where ars the wemen™ in
International Relations?

1. Hans Margenthau

2, Cynthia Enloe

3. Alexander Wendt

4. Andrew Linklater
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[Question ID = 1198][Question Description = 148_2058_POLI_OCT22_S1_Q48]
1. 1 [Option ID = 4789]
2. 2 [Option ID = 4790]
3. 3 [Option ID = 4791]
4. 4 [Option ID = 4792]

Correct Answer :-
e 2 [Option ID = 4790]



49) What is The Quad’ at the World Trade Organization (WTQ)?

1. An informal group that includes ministers from the US, the
EU, the UK and Germany

2. An informal group that includes the trade spokespersons of
Canada, the EU, Japan, and the US

3. The degision-making structure composed of the US, the EU,
Brazil, and India

4. The four department directors'within the WTO
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[Question ID = 1199][Question Description = 149_2058_POLI_OCT22_S1_Q49]
1. 1 [Option ID = 4793]
2. 2 [Option ID = 4794]
3. 3 [Option ID = 4795]
4. 4 [Option ID = 4796]

Correct Answer :-
e 2 [Option ID = 4794]

According to David Held what would a 'c@sma_polvitan model of
democracy’ entail?
1. The creation of regional parliaments
2. Human rights conventions must be entrenched into
national parliaments and monitored by a new International
Court of Human Rights
3. Reform and/or replacement of the UN with a mare
a_c-zountabfe_gld_hql.parﬁament
4. All gf the cptions given are correct
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[Question ID = 1200][Question Description = 150_2058_POLI_OCT22_S1_Q50]
1. 1 [Option ID = 4797]
2. 2 [Option ID = 4798]
3. 3 [Option ID = 4799]
4. 4 [Option ID = 4800]

Correct Answer :-



e 4 [Option ID = 4800]

Whe among the following political philosophers viewed the
State as a natural institution?

1. Plato

2, Aristatle

3. Thomas Hobbes

4. John Locke
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[Question ID = 1201][Question Description = 151_2058_POLI_OCT22_S1_Q51]
1. 1 [Option ID = 4801]
2. 2 [Option ID = 4802]
3. 3 [Option ID = 4803]
4. 4 [Option ID = 4804]

Correct Answer :-
e 2 [Option ID = 4802]
According to Marxism, which amang the follewing factors of
praduction create value?
1. Capital
2. Organisation
3. Labour
4. Land
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[Question ID = 1202][Question Description = 152_2058_POLI_OCT22_51_Q52]
1. 1 [Option ID = 4805]
2. 2 [Option ID = 4806]
3. 3 [Option ID = 4807]
4. 4 [Option ID = 4808]

Correct Answer :-
e 3 [Option ID = 4807]



>3) Who is the author of Citizenship and Social Class originally

published in 18507
1. Thomas Humphrey Marshall
2. Daniel Bell
3. Gabriel Almond
4. Robert Dahl
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[Question ID = 1203][Question Description = 153_2058_POLI_OCT22_51_Q53]
1. 1 [Option ID = 4809]
2. 2 [Option ID = 4810]
3. 3 [Option ID = 4811]
4. 4 [Option ID = 4812]

Correct Answer :-
e 1 [Option ID = 4809]

Identify the most accurate description of the corcept oi
‘Gavernmentality’ from the following optiens:
1. A wide-range of control technigues, which both create and
govern the subject
2. Coercive practices of government implemented on citizens
to extract their allegiance
3. A specific form of the principle c_:f democratic centralism
4. A specific form of social welfarism
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[Question ID = 1204][Question Description = 154_2058_POLI_OCT22_S1_Q54]
1. 1 [Option ID = 4813]
2. 2 [Option ID = 4814]
3. 3 [Option ID = 4815]
4. 4 [Option ID = 4816]

Correct Answer :-
e 1 [Option ID = 4813]



33) What does the Social Contract Theery do?

1. it critically examines the concept of the State

2. It describes the State as found inthe 177 and 187 centuries
3. It provides an explanation for the origins of the State

4, It predicts the formation of the World State

e e sl o] Bl 57
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[Question ID = 1205][Question Description = 155_2058_POLI_OCT22_S1_Q55]
1. 1 [Option ID = 4817]
2. 2 [Option ID = 4818]
3. 3 [Option ID = 4819]
4. 4 [Option ID = 4820]

Correct Answer :-
e 3 [Option ID = 4819]

According to Ernest Gellner, nationalism was linked to ‘which of
the following socio-palitical phenomena?

1. The rise of totalitarianism

2. Modernization and the processes of industrialization

3. Struggle against colenial rule

4. Imagination of a collective community
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[Question ID = 1206][Question Description = 156_2058_POLI_OCT22_S1_Q56]
1. 1 [Option ID = 4821]
2. 2 [Option ID = 4822]
3. 3 [Option ID = 4823]
4. 4 [Option ID = 4824]

Correct Answer
e 2 [Option ID = 4822]

Whe distinguished between the concepts of negative and
positive liberty?

1. Gerald MacCallum

2, Charles Taylor

3. Isaiah Berlin

4. Jahn Stuart Mill
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[Question ID = 1207][Question Description = 157_2058_POLI_OCT22_S1_Q57]
1. 1 [Option ID = 4825]
2. 2 [Option ID = 4826]
3. 3 [Option ID = 4827]
4. 4 [Option ID = 4828]

Correct Answer :-
e 3 [Option ID = 4827]

Deliberative democracy involves-
1. Politicians consulting their ministerial colleagues taking
decisions
2. Every major political decision being taken after a
referendum
3. Extensive public debate before politicians take decisions
4, Citizens consulting family and friends befere voting
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[Question ID = 1208][Question Description = 158_2058_POLI_OCT22_S1_Q58]
1. 1 [Option ID = 4829]
2. 2 [Option ID = 4830]
3. 3 [Option ID = 4831]
4. 4 [Option ID = 4832]

Correct Answer :-
e 3 [Option ID = 4831]

Which of the following work is matched correctly with the
author?
1. Power: A Radical View — Miche! Foutault
2, The Law of Peoples — Ronald Dworkin
3. Justice and the Politics of Difference = Iris Marion Young
4. Development as Freedom — Martha Nussbaum
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[Question ID = 1209][Question Description = 159_2058_POLI_OCT22_S1_Q59]
1. 1 [Option ID = 4833]
2. 2 [Option ID = 4834]
3. 3 [Option ID = 4835]
4. 4 [Option ID = 4836]

Correct Answer :-
e 3 [Option ID = 4835]

Equality of resources is ari idea that is associated with
1. Jahn Rawls
2. Amartya Sen
3. Bernard Williams
4. Ronald Dworkin
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[Question ID = 1210][Question Description = 160_2058_POLI_OCT22_S1_Q60]
1. 1 [Option ID = 4837]
2. 2 [Option ID = 4838]
3. 3 [Option ID = 4839]
4. 4 [Option ID = 4840]

Correct Answer :-

e 4 [Option ID = 4840]
Which of the following concepts is not associated with Frederick
Herzberg?

1. Job Rotation

2, Job Enrichment

3. Hiygiene Factor

4, Emotional Quotient
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[Question ID = 1211][Question Description = 161_2058_POLI_OCT22_S1_Q61]
1. 1 [Option ID = 4841]



2. 2 [Option ID = 4842]
3. 3 [Option ID = 4843]
4. 4 [Option ID = 4844]

Correct Answer :-
e 4 [Option ID = 4844]

‘Politics has to do with the expression of the state will whereas
administration has to-do with the execution of these policies’.
This statement is attributed to

1. Frank J. Goodnow

2. LD White

3. William F. Willoughby

4, Woodrow Wilson
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[Question ID = 1212][Question Description = 162_2058_POLI_OCT22_51_Q62]
1. 1 [Option ID = 4845]
2. 2 [Option ID = 4846]
3. 3 [Option ID = 4847]
4. 4 [Option ID = 4848]

Correct Answer :-
e 1 [Option ID = 4845]

Which among the following is an Auxiliary Agency?
1. Prime Minister's Office
2. Planning Gommission
3. Cab[ﬂet.'C_qunéﬂEgeﬁ
4, Finance Ministry
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[Question ID = 1213][Question Description = 163_2058_POLI_OCT22_S1_Q63]
1. 1 [Option ID = 4849]
2. 2 [Option ID = 4850]
3. 3 [Option ID = 4851]
4. 4 [Option ID = 4852]

Correct Answer :-
e 4 [Option ID = 4852]



64) Whe propounded that the interests of management and the

worker is one and the same?
1. FW. Taylor
2. H. Fayol
3. Eiton Maya
4, Herbert Simon
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[Question ID = 1214][Question Description = 164_2058_POLI_OCT22_51_Q64]
1. 1 [Option ID = 4853]
2. 2 [Option ID = 4854]
3. 3 [Option ID = 4855]
4. 4 [Option ID = 4856]

Correct Answer :-
e 1 [Option ID = 4853]

The term ‘Maulabala’ in Kautilya's Arthashastrastands far
1. Standing army of the state
2. Troops for particular occasion
3. Troops of the friendly state
4. Troops from different guilds:
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[Question ID = 1215][Question Description = 165_2058_POLI_OCT22_51_Q65]
1. 1 [Option ID = 4857]
2. 2 [Option ID = 4858]
3. 3 [Option ID = 4859]
4. 4 [Option ID = 4860]

Correct Answer :-
e 1 [Option ID = 4857]

Which one of the following is not the ways that M.P. Follett
suggests for conflict management in the organization?

1. Demination

2. Discussion

3. Integration

4. Compromise



Fafeied 3 9§ o1 96 | Sud UgYE & fod gL, it g
I 0% RId Tl & 7

1. Y (@A)

2. fag=m (fewaem)

3. GHTEE (3EUEE)

4. AAF] (BIHIEES)

[Question ID = 1216][Question Description = 166_2058_POLI_OCT22_S1_Q66]
1. 1 [Option ID = 4861]
2. 2 [Option ID = 4862]
3. 3 [Option ID = 4863]
4. 4 [Option ID = 4864]

Correct Answer :-
e 2 [Option ID = 4862]

Which of the following terms is not associated with Elton Mayo?
1. Squealer
2. Mole
3. Rate Buster
4. Chiseler

Fafafad # 9 @H §1 98 Ueed 541 | 4aiid 8 87
1. e
2. |1
3T
4, iR

[Question ID = 1217][Question Description = 167_2058_POLI_OCT22_51_Q67]
1. 1 [Option ID = 4865]
2. 2 [Option ID = 4866]
3. 3 [Option ID = 4867]
4. 4 [Option ID = 4868]

Correct Answer :-
e 2 [Option ID = 4866]

‘Equity‘according to Fayol stands for
1. Equalpa‘y':fqa' Egual Work
2. Egalitarianism
3. Egual Remuneration
4. To be treated justly and with kindness

BgIe @ SHR Sidd] () @1 Y B
1. 9HH & & o0 99 dad
2. GHAEIE
3. T UIRHHS
4, RS YT GOTC] & U1y S49eR Al @

[Question ID = 1218][Question Description = 168_2058_POLI_OCT22_51_Q68]
1. 1 [Option ID = 4869]
2. 2 [Option ID = 4870]



3. 3 [Option ID = 4871]
4. 4 [Option ID = 4872]

Correct Answer :-
® 4 [Option ID = 4872]

The Secand Chamber of which of the following countries also
acts as the highest court in the land?

1. United Kingdom

2. United States of America

3. Russia

4. People’s Republic of China

Fafarad H | oy <3 @1 [6diY 95 (Uds dav) 39 o=l &
Jeah g o Y] Ul Y 87

1. scs sy

359

4. AT SIS TR

[Question ID = 1219][Question Description = 169_2058_POLI_OCT22_S1_Q69]
1. 1 [Option ID = 4873]
2. 2 [Option ID = 4874]
3. 3 [Option ID = 4875]
4. 4 [Option ID = 4876]

Correct Answer :-
e 1 [Option ID = 4873]

Which of the following is incorrectin respect of the Prismiatic
Model as conceived byRiggs?
1. He did his field stlidy in Thailand
2. He did his field study in India
3. It explained the realities of developing societies and their
bureaueratic system
4. it explains the characteristics of societies in transition from
fused to diffracted ones

oy g & edd fsaed Hiea & ey A 98 S e Ted o7
1.3 SfH=T &7 ST URTS | [Ba1
2. SR 3TT &7 SIETH HILG H [od]
3. T8 [ao19ea 9919 iR 3@ 1S e Jug &1
FIciaal o] oOrE Hdl 6
4. T "o & foafia & ofv sowiialia g ga=i &1 fagmar
1 SO BT &

[Question ID = 1220][Question Description = 170_2058_POLI_0OCT22_51_Q70]
1. 1 [Option ID = 4877]
2. 2 [Option ID = 4878]
3. 3 [Option ID = 4879]
4. 4 [Option ID = 4880]

Correct Answer :-



e 2 [Option ID = 4878]

Put the correct order of the follewing ‘principles of
mianagement’ propounded by Henri Fayol,
i. Initiative

i, Unity of Command
iii. Division of Work

iv. Autharity and Responsibility
1. i, i iv
2. il ji, Liv
3. 0w, ii il

4, iiiiviii

=11 g g uiauied Fafafed v & fasial @ 98l 8
Fomd

R ESERIIE RG]

ii, ISR B Uadl (GH2] A BHIS)

iil. @1 @1 [FHT (fsdive i a@)

iv, W@R SR IeRaltE (YR Ts Reiishe)

1. i i v
2. iii,iiJiv
3. i,iv,ii,iii

4. i1

[Question ID = 1221][Question Description = 171_2058_POLI_OCT22_S1_Q71]
1. 1 [Option ID = 4881]
2. 2 [Option ID = 4882]
3. 3 [Option ID = 4883]
4. 4 [Option ID = 4884]

Correct Answer :-
e 4 [Option ID = 4884]
Hawthrone Experiments were primarily conducted by
|5 H_tf.i_nﬁ Fayol
2. Fredrick Winslew Taylor
3. Elton Mayo
4. None of these

B4 W geT U gl e U
1. 811 e
2. FER® == 2o
3. Ueeq Haf
4. FHE DR Aol

[Question ID = 1222][Question Description = 172_2058_POLI_0OCT22_S1_Q72]



. 1 [Option ID = 4885]
2 [Option ID = 4886]
3 [Option ID = 4887]
4 [Option ID = 4888]

A wnN =

Correct Answer :-
e 3 [Option ID = 4887]

Arrange the correct order of the following phasesof Hawthorme
Studies (1924-32) which were conducted at Western Electric
Companies by the Harvard Business School in Chicago; USA.

i. Bank-Wiring Observation

i, lllumination Experiments
iii. Mass Interviewing Programme

iv. Relay Assembly Test Room Experiment

1.0, i, i, i
2.1, jv, i i
3. i, i, i, il

4. iii, v, i, i

BT T (1924-32), 5l RGP, JEUT & s145 (494 e
G 3% Soiided Su-i d gaiod gu ¥, 39 e 9ot
@I Ggl &4 H TS0

i. ¥p-arsiar sifegdym

ii, SEEIE-TF TRIURHE
iil, HTY SeXest] UidH
iv, oot Tl 2w 34 Togaide

1. i di,iv
2. ii,fwdii,d
3. i i

4, i1

[Question ID = 1223][Question Description = 173_2058_POLI_OCT22_S1_Q73]
1. 1 [Option ID = 4889]
2. 2 [Option ID = 4890]
3. 3 [Option ID = 4891]
4. 4 [Option ID = 4892]

Correct Answer :-
e 2 [Option ID = 4890]

I which year the Second Minnowbrock Conference was held?
1.15868
2.1578
3.1987
4.1588



facia fEHige T fow ay | g 4T
1.1568
2.1978
3.1987
4.1988

[Question ID = 1224][Question Description = 174_2058_POLI_OCT22_S1_Q74]
1. 1 [Option ID = 4893]
2. 2 [Option ID = 4894]
3. 3 [Option ID = 4895]
4. 4 [Option ID = 4896]

Correct Answer :-

e 4 [Option ID = 4896]

Place the correct sequences of the following books written by
Fredrick Winslow Taylor.
i. Art of Cutting Metals

ii. A Piece-Rate System
iii. Shop Management

iv, The Principles:of Scientific Management

1., i, ) iv
2. i, i, i, iv
3. v, i, i, i

4. iii, v, ii, i

e B! <o) g fordl 8, il Qe ol el B H
ESRIERY

i, 3¢ 3T BT AT

ii, 3f dig-¥e oy

iii. T A=<

iv. & Tfbue ip st e JHed<

1. i, i iv
2. ii, iy i, v
3.1, i, i, il
4, il v, i, |

[Question ID = 1225][Question Description = 175_2058_POLI_OCT22_S1_Q75]
1. 1 [Option ID = 4897]
2. 2 [Option ID = 4898]
3. 3 [Option ID = 4899]
4. 4 [Option ID = 4900]

Correct Answer :-
e 1 [Option ID = 4897]



76) What are the main characteristics of bureaucracy given by Max

Weber being taken for analysis?
i. Division of Labour

i, Rationality
iii. Hierarchy

iv, Rules
1.0, i, i
2.0, i, m
3. ii, iil, v

4., i, 1ii, iv

Ao 963 g [990uT & (o7 51 715 Al el i 1 [quee
FE?
i, 37 @1 Ty (FadieH o dev)

ii, TP glG AT (AR
iii. TGHYH (@TEU®i)
iv, FOE (=)

1.0, iy i
2.0, dii, v
3. i, iii, iv

4.0, i, i, iv

[Question ID = 1226][Question Description = 176_2058_POLI_OCT22_51_Q76]
1. 1 [Option ID = 4901]
2. 2 [Option ID = 4902]
3. 3 [Option ID = 4903]
4. 4 [Option ID = 4904]

Correct Answer :-
e 2 [Option ID = 4902]

Who delivered the famous speech, ‘we shall fight on the
beaches!, during the Second World War?

1. Adolf Hitler

2. Theodocre Roosevelt

3. Winston Churchill

4, King George VI

f&ciTa 3% gg & SR e, 549 ol W 4g &40, 31 Wids
9o fean un

1. Bl fgee)

3. fogen afa

4 fH== v



[Question ID = 1227][Question Description = 177_2058_POLI_OCT22_51_Q77]
1. 1 [Option ID = 4905]
2. 2 [Option ID = 4906]
3. 3 [Option ID = 4907]
4. 4 [Option ID = 4908]

Correct Answer :-
e 3 [Option ID = 4907]

The term ‘complex interdependence’ is associated with which
school of international relations theory?

1. Liberal

2. Realist

3. Constructivist

4. None ef the above

wied ST UG RIP gaY [aid & oy eR-guen ¥
HafUa g7

1. SGRAGI

2. TR

3, YAl
4. ST H G Bl el

[Question ID = 1228][Question Description = 178_2058_POLI_OCT22_S1_Q78]
1. 1 [Option ID = 4909]
2. 2 [Option ID = 4910]
3. 3 [Option ID = 4911]
4. 4 [Option ID = 4912]

Correct Answer :-
e 1 [Option ID = 4909]

Which of the following is Aot an aspect of India's ‘soft power?
1. Export of Bollywaed films
2. Export of Yoga
3. Export of Buddhist philescphy
4. Export of Tejas aircraft

Pt 5 # ST 4Ra @1 55 W @1 Ued J6] 67
1. §1cigs fhei e il
2. 3 T i
2. 9l =85 1 i
4, 799 fa9H %1 g

[Question ID = 1229][Question Description = 179_2058_POLI_OCT22_S1_Q79]
1. 1 [Option ID = 4913]
2. 2 [Option ID = 4914]
3. 3 [Option ID = 4915]
4. 4 [Option ID = 4916]

Correct Answer :-
e 4 [Option ID = 4916]



80) Which of the following schelars is associated with ‘classical

realism’ in international relaticns theory?
1. Headley Bull

2. loseph Nye

3. Hans Margenthau

4, Andrew Linklater

Fafeied 4 9 o1 ¥ fagr 2iRifg Y6y feia d oy
qyrlag ¢ gdfed 87

1. 850l g

2. Sw A

3. e AT

4, &g fiigpaeR

[Question ID = 1230][Question Description = 180_2058_POLI_OCT22_51_Q80]
1. 1 [Option ID = 4917]
2. 2 [Option ID = 4918]
3. 3 [Option ID = 4919]
4. 4 [Option ID = 4920]

Correct Answer :-
e 3 [Option ID = 4919]

Who proposed the idea that “without law, there is no liberty™?
1. Aristotle
2. 13, Mill
3. John Locke
4. Patrick Delvin

B2
1. 90
2. 999 g
3, @M did
4. Uiew Sfead

[Question ID = 1231][Question Description = 181_2058_POLI_OCT22_51_Q81]
1. 1 [Option ID = 4921]
2. 2 [Option ID = 4922]
3. 3 [Option ID = 4923]
4. 4 [Option ID = 4924]

Correct Answer :-
e 3 [Option ID = 4923]



82) Identity among the following senses in which the Conservatives

view human nature pessimistically
A. Human beings are limited, dependent and security seeking
creatures

B. Human beings are morally corrupt tainted by selfishness,
greed and a thirst for power.

C. Human Raticnality is unable to cope with the infinite
complexity of the world

1. Only A

2.B and Conly

3. A and Conly

4, All of the above

FafaRad Jral & 1 349 Hral @ geaH S fweaH SHeRag
A4 UEia S FREMEGE G4 6Ed &
A, Ha HifHd, 3 3% g8 o1 Uie] & a1c Siid &

B, H[q Afd® w4 § 4P § X @Y, dierg S} Wi SLugrE o
G

C. 99 abdfs % $1 3 Sieedl & G- @i 5 JEH £
1. @adA
2. FAABARC
3. FaAAARC
4, JuAEd G

[Question ID = 1232][Question Description = 182_2058_POLI_OCT22_S1_Q82]
1. 1 [Option ID = 4925]
2. 2 [Option ID = 4926]
3. 3 [Option ID = 4927]
4. 4 [Option ID = 4928]

Correct Answer :-
e 4 [Option ID = 4928]

Ameng thefollewing econemic and moral virtues, defenders of
meritogracy do not argue for

A, It will not guarantee incentives by encouraging people to
raise 1;'heir talents

B. It ensures that society is guided by wise and talented people

C. Itis just in that distribution according to merit gives each
person’s due and respect the principle of cpportunity

1. Only A

2.BothBand C

3. Only C

4. Only B



o i <R Sfoe 1 § § 3 © 994® 98 0@
To @
A, SiGadl B UiaHT & Uieie | WeH G- 9al aim

B, 9 GFET &3ar & [ 90T 958 AR U= Sfaal
GR1 ARTarRd gl

C. T% IOETd & Hiie argd) & AR W &0 ude sfed @1
IOPT 5P odl & AN AR & gl B GHE ST ©
1.®adA
2.8 AR CTHAl
3.&gEcC
4 Fade

[Question ID = 1233][Question Description = 183_2058_POLI_OCT22_5S1_Q83]
1. 1 [Option ID = 4929]
2. 2 [Option ID = 4930]
3. 3 [Option ID = 4931]
4. 4 [Option ID = 4932]

Correct Answer :-
e 1 [Option ID = 4929]

Which of the following is an indigenously made ship recently
handed over to the Indian Navy?

1. INS Vikramaditya

2. INS Viraat

3. INS Vikrant

4. INS Virbahu

Frafcad o § 1 Soy FiET Ui & or g1 A HIard S @
11 4

1. ULy [ahHliGy

2. SRUALY faxre

4. LT dREg

[Question ID = 1234][Question Description = 184_2058_POLI_OCT22_S1_Q84]
1. 1 [Option ID = 4933]
2. 2 [Option ID = 4934]
3. 3 [Option ID = 4935]
4. 4 [Option ID = 4936]

Correct Answer :-
e 3 [Option ID = 4935]



83) With reference to Rajni Kothari's idea of Indian "Model’

preposed in 1970, consider the follewing statements —
A. While economic and social change is in important respects
plarmed and directed from above, it is nonetheless carried on
within the framewark of an open and undirected polity.

B. The arena of power is limited to a ruling oligarchy or an
aristacracy of birth,

C. The model is based less on coercing individuals and groups
into new directions of action than on indulging them towards
thieir own growth.

Which of the statements given above is /are correct ?
1.4 and B only
2.B and C only
3. 4 and Conly
4. A only

1970 H ToH] @ISR g1 Usaliad YRdg Hise (WidHH) @ [9ar
& gy F efafEd oy m am e

A, BT S SR geilve e S S 9 i
3R PRI 81 &, Jevere 34 U 594 Uh 31 1R X1o-edaeyl
@ oid O Siatid AT 9EE T &

B. Qe &1 T UTHS (e 3ra] S-SR Pl o3 &
feru difed &

C. U8 UfHF S oY T &1 g 1a 5§ o fors Hegd
T & G I 0] Hgfa H i o oY SU® oia 8

3 Al G FF 98 B Sel ae?
1. @90 A AN B
2. FAAB AN C
3, Fad A HRL
4, FaAA

[Question ID = 1235][Question Description = 185_2058_POLI_OCT22_S1_Q85]
1. 1 [Option ID = 4937]
2.2 [Option ID = 4938]
3. 3 [Option ID = 4939]
4. 4 [Option ID = 4940]

Correct Answer :-
e 3 [Option ID = 4939]



86) With reference to Sukra's idea of ruler, consider the following

statermnents =

A, There are three kinds of kings; namely satvika, rajsika and
famsika,

B. Unlike the earlier writers, Sukra does not insiston a properly
appointed ruler.

C. Sukra is very clear that a ruler can take shelter behind
necessity by advancing the plea that extraordinary situations
require extraordinary sclutions.

Which of the statements given above is /are correct?
1. C only
2. A and Conly
3. B and Conly
4. A and B only

IEE W YF P [a9R & HeH o, FRiiied sy-l i aF i -
A. T UPR & TS 8l & - 9Ia®, Ieas IR aHias

8. T4 & oG] & [a9id, 9 S1dd ¥ 9 4 g e o2 a0
EEIE

C. I Tgd WE § 1 U 9 SRUR0 Ul B S19E0wdl Bl
TR TR 5T Ha2gdhd] & Ule IR0 e 9ol 8

SUad YA H U BH el 52
1. §adC
2. FAAAARC
3. FAAB AN C
4 HITAA IR B

[Question ID = 1236][Question Description = 186_2058_POLI_OCT22_51_Q86]
1. 1 [Option ID = 4941]
2. 2 [Option ID = 4942]
3. 3 [Option ID = 4943]
4. 4 [Option ID = 4944]

Correct Answer :-
e 4 [Option ID = 4944]



87) With reference to Llayd Rudolph and S H Rudolph's model of

Demand Polity and Command Polity, consider the following
staternents —
A, Veter citizens are sovereign in the niodel of demand polity.

B. In the model of command polity the "autoriomous’ states are
sovereign.

C. Legitimacy in demand politics depends on the eredibility of
the state's call for equitable sacrifice to achieve future benefits
and social costs.

D. Legitimacy in command politics depends ©n the state’s
capacity to provide shert-run equitable treatment of citizens’
demands,

Which of the statements given above is/are correct?
1.C and D only
2. A and B only
3. A Band Conly
4. B, Cand D only

108 TIe Sl TN U3 Saleh o [SHIS UNiel AR &1 Hiere!
ufeHH & ded 7, g oy W o e -
A, FTGTIT A f5H1s Uiferd] & ufems # oy &

B. @HIS Uliel & UidaH H W R0ed 59 &

c. fsuis ulferd] & Juar yiaw @& arf SR Elive o[ &1 Wi
o4 A Uikar & (oL e & SiigH @) loxg-igal & 1R
Xl B
D. FATS Uifeic] @1 S FE! &1 71 & 37 Slia® griad
Y UG X od 3099 @1 &H0T W (14 Sl 8
JTTE FYE H 4 B 4 HEl o7

1.&49g c IRD

2. g A SR B

3, Han A, B SR.C

4, ®ae B, CHI D

[Question ID = 1237][Question Description = 187_2058_POLI_OCT22_S1_Q87]
1. 1 [Option ID = 4945]
2. 2 [Option ID = 4946]
3. 3 [Option ID = 4947]
4. 4 [Option ID = 4948]

Correct Answer :-
e 2 [Option ID = 4946]



88) What is the specific way in which Granville Austin uses ‘culture’

as a part-of seamless web?
A, Itincludes the variety of grandeurs in art, music, dance,
theatre, literature and scripture.

B. It refers to certain traits, viewpoints, and ingrained
experiences and attitudes that are integral to the citizen.

C. It means the primier, the undercoat ever which the top coats—
glossy or flat — of the nation's’ daily affairs were painted.

1.4 only

2.B anly

3.B and Conly

4. 4 and B only

YAfae +ifes iy 99 & oW & ¥4 | B 999 Vel §
A, 35H @, §iild, 5, T1H4, Eiied 3R gad $] a4adul
fafayar i 2

B. Wg I (a9 wamil, =ipei, Sik e ermval gyl Sesr| @i
Hefilg Sed & o ANE] & T sfm E

C. 3@ 2 3G Ued W, 3R U & MYE SR ol @ aH®
H1EEl B FHGIE HYT] WG] 6 Uia s, Sl &

1. FadA

2. Fad B

3. FaAB AR C

4. FAAANB

[Question ID = 1238][Question Description = 188_2058_POLI_OCT22_51_Q88]
1. 1 [Option ID = 4949]
2. 2 [Option ID = 4950]
3. 3 [Option ID = 4951]
4. 4 [Option ID = 4952]

Correct Answer :-
e 3 [Option ID = 4951]

The Constitution 977 Amendment Act added a provision in Part
lll, Fundamental Rights. Which among the following was it?

1. Article 16

2, Article 25

3, Article 274

4. Article 19



HfEe= & o7d duieE AfEfga 3 um ), Af® SRR e
vauH @ wite| Fofafea 3 9 ag @aryn

1. 3 3=9% 16

2. 373598 25

3. 3f=9g 218

4. 3355 19

[Question ID = 1239][Question Description = 189_2058_POLI_OCT22_S1_Q89]
1. 1 [Option ID = 4953]
2. 2 [Option ID = 4954]
3. 3 [Option ID = 4955]
4. 4 [Option ID = 4956]

Correct Answer :-
e 4 [Option ID = 4956]

Barrimgton Moare Jr, in his book Sacial Origins of Dictatorship
and Democracy identifies four historical routes from
preindustrial to the modern world. In light of Moere's worlg
identify the incorrect match from the following options -

1. First route — England and France

2. Second route — Germany and lapan

3. Third route — Russia and China

4. Fourth route - America

Us EHiadH AYHHa-gd 9 ATH@ 8% iR 9 6 97
YRR AT @ 959 &3d o| BR @] Did @ ARiis ¥,
Fofafed ffeet & § Tod 59 @ Hodid ST -

1. U4 TPl - S IR B

2. fgdi arf - sd4 S aE

3. garg anf - ¥4 AR A

4. ggd 7vf - adf@r

[Question ID = 1240][Question Description = 190_2058_POLI_OCT22_S1_Q90]
1. 1 [Option ID= 4957]
2. 2 [Option ID = 4958]
3. 3 [Option ID = 4959]
4. 4 [Option ID = 4960]

Correct Answer :-
e 4 [Option ID = 4960]



o Consider the following ideas on the Subaltern School of

historiography and identify the incorrect statement —

1. Histeriography of Indian nationalism has been deminated
by colonial and bourgenis nationalist elitism,

2. Colonial and bourgeois nationalist elitism is not helpful in
understanding the structure of the colonial state, the
operation of its organs, and the alignment of classes which
sustain it,

(95}

. Colonial and bourgeois nationalist elitist historiography is
the ideological productof British rule in India,

4. Colecnial and bourgeais nationalist elitist historiography

define Indian nationalism primarily as a function of stimulus

and respornse,

3foeTa-fae & Halee w@d & Hengd [q9R] 9 WM Gitee
BT 3R 190 By @] UegH SIaT -

1. YRl perG @i giaerd-faen | e qurgs
JIPaTE] Tuidars @1 TE e &

2. FUFTATRS SR gelef VA Yuidare SaFafies e 31
T, <5 3 @1 BT, AR 34 H1EH WA A i
W & gagH § vega el 6
Tofes 2me @ 9aTiv® oG o

4. FOfTare SR geef Aad] YUidaIel siera-lae g
PTG S 4 T 4 GHu S Ut @ Be & ©0 3
qiee B &

[Question ID = 1241][Question Description = 191_2058_POLI_OCT22_S1_Q91]
1. 1 [Option ID = 4961]
2. 2 [Option ID = 4962]
3. 3 [Option ID = 4963]
4. 4 [Option ID = 4964]

Correct Answer :-
e 2 [Option ID = 4962]

According te Samuel Huntington, which of the following was
not an'element of the third wave of democratization:

1. End of dictatership in Greece

2. End of military rule in Latin American couniries

3, Decolonisation of India

4. Collapse of communism in Eastern Europe

TR BleTed & 7R, Fafaied § | & disaidimo &
Jard e Pl o ol 4I?

1. 919 H GHRIE] @l Sid

2. dfeH s Gl § 9.9 2eH &1 Sd

3. YId @1 [a3uHdeieu

4. qdl TR0 | YrEarg ®1 god

[Question ID = 1242][Question Description = 192_2058_POLI_OCT22_S1_Q92]



. 1 [Option ID = 4965]
2 [Option ID = 4966]
3 [Option ID = 4967]
4 [Option ID = 4968]

A wnN =

Correct Answer :-
e 3 [Option ID = 4967]

Democratic consolidation implies:
1. Initiation of the reform sequence, usually as a result of
recognition by authoritarian rulers that change is inevitable
2. Arrarigemients are made for the new system of government
3. Widespread acceptance of the new system, supported by
evidence that it works.
4. Democracy evolves from the superficial to the substantial.

B 2ol @I AU §
1. GUR 9 B1 ARY, - Turda] U@ gRI 59 Wi &
UGy [ uRadd uiEd &
2. PR @] T3 WOl 5q 45 eIl @] 9l g
3. 3 YN ] A9 @, 39 9 & 91y @) dgdrd
I el
4. Tieds Gag) 9 URHd 91 3K 9o G el &

[Question ID = 1243][Question Description = 193_2058_POLI_OCT22_51_Q93]
1. 1 [Option ID = 4969]
2. 2 [Option ID = 4970]
3. 3 [Option ID = 4971]
4. 4 [Option ID = 4972]

Correct Answer :-
e 3 [Option ID = 4971]

Cooperative Federalism fsf_also referred to as:
1. Marble cake federalism
2. Tea cake federalism
3. Layer cake federalism
4, Chocolate cake federalism

E®I Waare @1 9g i dgl ol &
1. A14e H& U996
2,31 P g9arg
4. TiFce HF 99TG

[Question ID = 1244][Question Description = 194_2058_POLI_OCT22_51_Q94]
1. 1 [Option ID = 4973]
2. 2 [Option ID = 4974]
3. 3 [Option ID = 4975]
4. 4 [Option ID = 4976]

Correct Answer :-
e 1 [Option ID = 4973]



93) Which one of the follewing tountries doesn't have Monarchy?

1. UK

2. Nepal
3. Japan
4. Spain

[Question ID = 1245][Question Description = 195_2058_POLI_OCT22_S1_Q95]
1. 1 [Option ID = 4977]
2. 2 [Option ID = 4978]
3. 3 [Option ID = 4979]
4. 4 [Option ID = 4980]

Correct Answer :-
e 2 [Option ID = 4978]

Which of the following is a feature of consbeiational democracy?
1. Majority rule
2. Majority veto
3. Minerity rule
4. Minority veto
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[Question ID = 1246][Question Description = 196_2058_POLI_OCT22_51_Q96]
1. 1 [Option ID = 4981]
2. 2 [Option ID = 4982]
3. 3 [Option ID = 4983]
4. 4 [Option ID = 4984]

Representational Parliamentary system is found in
1. Japan
2. Ireland
3. Sweden
4. India
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[Question ID = 1247][Question Description = 197_2058_POLI_OCT22_S1_Q97]
1. 1 [Option ID = 4985]
2. 2 [Option ID = 4986]
3. 3 [Option ID = 4987]
4. 4 [Option ID = 4988]

Correct Answer :-
e 3 [Option ID = 4987]

Which of the following is not a work by Lenin
1. The State and Revolution
2. Marxism and Problems of Linguistics
3. Left-Wing Communism: An Infantile Disorder
4. The Proletarian Revolution and the Renegade Kautsky
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[Question ID = 1248][Question Description = 198_2058_POLI_OCT22_S1_Q98]
1. 1 [Option ID = 4989]
2. 2 [Option ID = 4990]
3. 3 [Option ID = 4991]
4. 4 [Option ID = 4992]

Correct Answer :-
e 2 [Option ID = 4990]

Whe propesed a pan-African unity in his work "Africa Must
Unite?

1. Gamal Abdel Nasser

2, Kwame Nkrumah

3. Robert Mugabe

4. Kofi Annan
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[Question ID = 1249][Question Description = 199_2058_POLI_OCT22_51_Q99]
1. 1 [Option ID = 4993]



2. 2 [Option ID = 4994]
3. 3 [Option ID = 4995]
4. 4 [Option ID = 4996]

Correct Answer :-
e 2 [Option ID = 4994]

Who propagated the idea of "Lokasamgraha™?
. M.K. Gandhi
2. Raja Ram Mohan Roy

el

3. Swami Vivekananda
4. Rabindranath Tagore
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[Question ID = 1250][Question Description = 200_2058_POLI_0OCT22_S1_Q100]
1. 1 [Option ID = 4997]
2. 2 [Option ID = 4998]
3. 3 [Option ID = 4999]
4. 4 [Option ID = 5000]

Correct Answer :-
e 2 [Option ID = 4998]



